
 
Grammar    Used To 

 
 

Used to + Infinitive 2 
 
 
Match the first part of each sentence with the correct second half: 
 
 
 
 
1. I used to shop at Asda   a) but now they say it’s too boring. 
 
2. I used to go to gigs   b) but now nobody knows who I am. 
 
3. I used to be shy    c) but I shaved it off ’cause my wife hated it. 
 
4. I used to have trouble sleeping  d) but I couldn’t cope with all the angry dogs. 
 
5. I used to have thick brown hair  e) but now we hardly ever talk. 
 
6. I used to have a moustache  f) but now I write mainly plays and stories. 
 
7. I used to play for Derby County  g) but I retired three years ago. 
 
8. I used to wash up after every meal h) but now I’m as bald as a billiard ball. 
 
9. I used to go to a lot of festivals  i) but these days I prefer LIDL. 
 
10. I used to have an aggressive dog j) but I didn’t like sleeping in a tent. 
 
11. I used to have three cats  k) but now I prefer the natural look. 
 
12. I used to Skype a guy in Belgium l) but now I’ve got a people carrier. 
 
13. I used to be famous   m) but at the moment my life is terrible. 
 
14. I used to be a poet   n) but now I get about eight hours a night. 
 
15. I used to wear a lot of make up  o) but now I’d rather listen to Radio 3. 
 
16. I used to play conkers with my mates  p) but these days he doesn’t bark much. 
 
17. I used to be the boss   q) but lately I’ve been doing it once a day. 
 
18. I used to be happy   r) but now I’m a football manager. 
 
19. I used to be a postman   s) but now I’m pretty outgoing. 
 
20. I used to drive a Ford Mondeo  t) but at the moment I’ve got four. 


